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Funktionen - Anwendung der Integralrechnen - Flacheninhalt von f(x)

Lésungsblatt 2

f(x):y=(2x*—2x—4); Intervall — = Nullstellen der Funktion f(x); — =(-1;+2)
— 2x*-2x—4=0 — x*-x-2=0
2
— X1,2=13i (%) +BZ X12= %i% Intervall:(-1; +2)

y = 2x2-2%-4 fab f(x).dx = f_+12(2 x?-2x-4).dx =

- E 3_3 Z_i |-|_2
(- ¥-5. X -2.% |

\f(x)ﬁ

A(_1;+2):(gx3—xz—4x)|}1 + (3x3—x2—4X)|+02 -

= (—%—1+4) + (1?6_4_8)=
7 20 7 20 27
=373 T lElHlElE 5 = 9FE

f(x):y = (x* -6 x*+ 12 x); Intervall: (a = 0/b = +5);

. LG dx = [P -6x% +12x%) .dx =
— (14 0 12 +5.

= (4x 3x3+ . x2)|0 ;
AQ:+5)= (2x*—2x+6x2) |*5 =

625 225

= (——250+150)+O =

56,25 FE
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f(x): ||y = x3-6x2+:12x
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